[image: image1.jpg]A manufacturing company produces a product to a target weight of 15.00Kg, using a
revolutionary process which has recently been developed.

The process requires to be managed by a specialist operator, the company employing three
such persons,o, B and 8.

Due to a number of factors, including possible skill differences of the operators, the actual
weight of the product varies and hence the weight of an item constitutes a random variable.

To investigate the accuracy of the three operators, a random sample of 200 items for each
operator was selected and weighed, the results being shown in the table below:-

Weight (Kg) Number of Items
a B o)

14.80 - 14.84 8 14
14.85 - 14.89 6 14 40
14.90 - 14.94 16 24 92
14.95 - 14.99 36 28 34
15.00 - 15.04 80 52 20
15.05 - 15.09 44 30

15.10 - 15.14 12 20

15.15 - 15.19 6 12

15.20 - 15.24 2




